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No BT R HE HElniELE trL-134 t 9 L-137 EEE
Ba. kg Bg. kg Ba ke
1 wmem R6.5.7 FARINSHR BRHEE9(<3.6) BRHEE9(<3.9) BRHEEY
2 SEHWTH R6.5.7 b (iEE% BRHEE9(<3.3) BREE9(<2.0) - Janpcac N
3 LhE R6.5.7 avyF (% BRHE9(<6.0) BRHEE9(<5.6) - Janpcc
4 LWhEm R6.5.7 RoL2YY (% BREE9(<L5.5) BREE9(<4.3) - Janpcc N
5 ABIH R6.5.7 FRINSHR BRHET(<3.8) BRHET(<45) - Janpcac N
6 E%AmH R6.5.7 Fao) (%) BRHE9(<4.2) BHE9(<3.7) BmREEY
7 HEHEET R6.5.7 7% BRHEE9(<3.7) BRHEE3(<43) BRHEY
8 HEHEET R6.5.7 7% BRHET(<L7.2) BRHET(<L35) BRHEY
9 HEHEET R6.5.7 7% BREE9(<38.7) 5.70 5.7
10 FEHEET R6.5.7 7% BRHEE3(<45) 7.54 75
11 REH R6.5.7 =5 BRHE9(<6.9) BRHEEI(<44) BREEY
12 RIESH R6.5.8 FRINSHR BHE$(<30) BHE$(<26) BmHEY
13 =)IF R6.5.8 AF3 (EE%) BRHEEI(<34) BRHEE9(<2.8) BREEY
14 HiN;EHT R6.5.8 FRINSHR BRHET(<5.2) BRHE9(<5.6) BREET
15 HiN;EHT R6.5.8 YIRS BRHEET(<48) BRHEET(<44) BREET
16 T At R6.5.7 Fa) (k) BRHE9(<35) BRHEEI(<34) BHEY




BRERER

No 5 RExH AMDELE Iy L-134 2 L-137 BEE
Ba/ ke Ba/ke Ba kg

17 SR R6.5.7 RAFYTIURY (HEER) BREET(<3.2) BRHEET(<34) ‘s
18 RIGH R6.5.7 J0y3aY)— (M%) BHE9(<49) B E9(<45) BEHEd
19 &+ R6.5.7 Jayal)— (%) BRHEE9(<3.9) BRHE9(<4.0) BREEY
20 R R ET R6.5.7 AFVTIURY (FEER) BRHEE9(<6.1) BRHE9(<35) BREEY
21 tRET R6.5.7 Fav) (HEE%) BRHEE9(<48) BRHE9(<36) BREEY
22 LIES R6.5.7 IS (M%) BREET(<41) BRHEE7(<4.0) BREEY
23 LIES R6.5.7 RILY (HEER) RHEE7(<5.3) BRHEE7(<4.0) BREEY
24 AJIET R6.5.7 HAa (FEE%) BRHE9(<5.5) BRHEY(<45) BREEY
25 EIES) R6.5.7 =3 BREET(<7.) BRHEE7(<7.0) BREEY
26 [ EFHT R6.5.7 =3 BRHEE9(<6.7) BRHEEY(<5.7) BREEY
27 i) R6.5.7 av¥y BRHEET(L5.1) BRHE7(<5.3) BREEY
28 [ EFHT R6.5.7 FUTYA BRHE9(<6.0) BRHEY(<48) BREEY
29 i) R6.5.7 g4a> BRHEET(<44) BRHE7(<3.8) BREEY
30 i) R6.5.7 Fry R E7(<5.6) BRHEET(L5.1) BREEY
31 [ EFHT R6.5.7 H=—LAR BRHEE9(<7.2) BRHE9(<5.5) BREEY
32 i) R6.5.7 HYIURD BRHEE7(<43) BRHE7(<5.5) BREEY
33 = [ BT R6.5.7 TPyavk BRHEET(<44) BRHEET(<41) BREEY
34 = [ BT R6.5.7 HZ—LAR (fEE%) BRHE9(<6.9) 6.46 6.5

35 = [E T R6.5.7 7% BRHE9(<4.6) BRHEET(<44) BREEY
36 = [ BT R6.5.7 avv BRHEET(<3) BRHE9(<36) BREEY




BRERER

No 5 RExH AMDELE o L-134 2 L-137 BEE
Ba ke Ba/ke Ba kg
37 = FE] BT R6.5.7 Joyay— BHE7(<6.4) B 97(<6.0) ikl
38 = [ BT R6.5.7 FUTUYA BRHEE7(<5.9) BRHEE7(<54) BREEY
39 = [ BT R6.5.7 LARR BRHE9(<38) 5.91 5.9
40 = [ BT R6.5.7 == BRHE9(<3.9) 6.00 6.0
41 Hh T R6.5.7 Froy BRHEE7(<7.3) BRHEE7(<6.1) BREEd
42 7 Hh T R6.5.7 FRINSHR BRHE9(<6.7) BRHEY(<48) BREEY
43 EREEHT R6.5.7 IR BRHE9(<4.9) BRHEEY(<4.2) BREEY
44 EREEHT R6.5.7 =3 BRHE9(<5.5) BRHE9(<4.0) BREEY
45 EREEHT R6.5.7 A F3 (FEE%) BRHEY(<3.2) BRHE9(<2.9) BREEY
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